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(A) High suitability environment

Pairwise test: Games−Howell test ; Comparisons shown: only significant
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(B) Middle suitability environment

Pairwise test: Games−Howell test ; Comparisons shown: only significant
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(C) Low suitability environment

Pairwise test: Games−Howell test ; Comparisons shown: only significant
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(D) High suitability environment

Pairwise test: Games−Howell test ; Comparisons shown: only significant

 µmean = 5.90
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(E) Middle suitability environment

Pairwise test: Games−Howell test ; Comparisons shown: only significant
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(F) Low suitability environment

Pairwise test: Games−Howell test ; Comparisons shown: only significant


